Here are the marks you should have put under the inference (premise or conclusion) indicators:

5. 
Being a person is what gives an individual a right to life. Therefore fetuses have no right to life, since they are not persons.

6.
Fetuses are not persons.  But being a person is what gives an individual a right to life.  So fetuses have no right to life.


7.
Fetuses have no right to life, because being a person is what gives an individual a right to life, and fetuses are not persons.

My personal opinion is that example 6 is the clearest way to state the argument.
Study this diagram for examples 5, 6, and 7.  I indicate that premises a and b are linked by using a plus (+) sign.
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Key:

a = Being a person is what gives an individual a right to life.

b = Fetuses are not persons.

c = Fetuses have no right to life.

Here’s a way to tell if premises are linked or independent.  Suppose you have two premises and you are not sure if they are linked.  Ask this question about each one of the premises: “Why is that supposed to be a reason for the conclusion?”  If another premise answers this question, the premises are linked.  If the other premise is irrelevant to the question, the premises are independent. Notice that lots of independent premises make a cumulative case for the conclusion and may in that way strengthen each other’s  inference—but we shall nonetheless classify them as independent.

In many arguments we analyze, whether the premises are independent or linked cannot be determined or isn’t worth quibbling over:  in these cases either answer will earn full credit.  In many other arguments, the distinction can be determined, and you may lose a point if you mistake it.  I’ll try to indicate these two situations in exercises.

